
L’aire du disque.

R = 5 cm

A = x π =

L’aire du disque est de ……………………….. cm²

R = 7 cm

A = x π =

L’aire du disque est de ……………………….. cm²



L’aire du disque.

R = 4 cm

A = x π =

L’aire du disque est de ……………………….. cm²

R = 9 cm

A = x π =

L’aire du disque est de ……………………….. cm²



L’aire du disque.

R = 2 cm

A = x π =

L’aire du disque est de ……………………….. cm²

R = 10 cm

A = x π =

L’aire du disque est de ……………………….. cm²



L’aire du disque.

R = 8 cm

A = x π =

L’aire du disque est de ……………………….. cm²

R = 3 cm

A = x π =

L’aire du disque est de ……………………….. cm²



L’aire du disque.

R = 9 cm

A = x π =

L’aire du disque est de ……………………….. cm²

R = 1 cm

A = x π =

L’aire du disque est de ……………………….. cm²



L’aire du disque.

R = 6 cm

A = x π =

L’aire du disque est de ……………………….. cm²

R = 10 cm

A = x π =

L’aire du disque est de ……………………….. cm²



L’aire du disque.

R = 3 cm

A = x π =

L’aire du disque est de ……………………….. cm²

R = 7 cm

A = x π =

L’aire du disque est de ……………………….. cm²



L’aire du disque.

R = 9 cm

A = x π =

L’aire du disque est de ……………………….. cm²

R = 2 cm

A = x π =

L’aire du disque est de ……………………….. cm²



L’aire du disque.

R = 1 cm

A = x π =

L’aire du disque est de ……………………….. cm²

R = 6 cm

A = x π =

L’aire du disque est de ……………………….. cm²



L’aire du disque.

R = 8 cm

A = x π =

L’aire du disque est de ……………………….. cm²

R = 10 cm

A = x π =

L’aire du disque est de ……………………….. cm²



L’aire du disque.

R = 5 cm

A = x π =

L’aire du disque est de ……………………….. cm²

R = 2 cm

A = x π =

L’aire du disque est de ……………………….. cm²



L’aire du disque.

R = 9 cm

A = x π =

L’aire du disque est de ……………………….. cm²

R = 4 cm

A = x π =

L’aire du disque est de ……………………….. cm²


